— = E“—‘ FE {iL A

dadho A7 mm

HRFRAF

BT S IR L0y
Lo/ T-5pm

BRSO AERE (B KT /D)
FEIRE0E A AR E TIRELIA

(<) E
@ 4651-6

B2
MRS L MRS LR B M EARSFL 2 8] B B
m Al ARtk
/<]
\\ i |
(I
il
N
(mm) (mm)
4651-3 % M3x0.5-6H 8 3 9 6 18.5 4651-17P* | M17x1-6H 14 | 5 19 12 | 36.5
4651-4 % M4x0.7-6H 3| 15 6 225 4651-18P* | M18x1-6H 16 | 5 21 14 41
4651-5* M5x0.8-6H 10 5 12 8 24.5 4651-18R* | M18x1.5-6H 16 | 5 25 14 | 47.5
4651-6 * M6x1-6H 10 5 16 8 31 4651-18T* | M18x2-6H 16 | 5 30 14 56
4651-8P * M8x1-6H 12 5 18 10 | 345 4651-18* M18x2.5-6H 14 | 5 36 12 69
4651-8 * M8x1.25-6H 12 5| 195 | 10 | 36.5 4651-20P* | M20x1-6H 18 | 5 21 15 41
4651-10P* | M10x1-6H 12 5 18 10 | 345 4651-20R* | M20x1.5-6H 18 | 5 25 15 | 47.5
4651-10% M10x1.5-6H 12 5 | 215 | 10 | 39.5 4651-20T* | M20x2-6H 18 | 5 30 15 56
4651-12P* | M12x1-6H 12 5 18 10 | 345 4651-20%* M20x2.5-6H 18 | 5 36 15 69
4651-12R* | M12x1.5-6H 12 5 23 10 | 425 4651-24P%* | M24x1-6H 20 | 5 21 17 41
4651-12% M12x1.75-6H | 12 5 | 275 | 10 | 50.5 4651-24R* | M24x1.5-6H 20 | 5 25 17 | 47.5
4651-14P%* | M14x1-6H 12 5 18 10 | 345 4651-24T* | M24x2-6H 20 | 5 30 17 56
4651-14R* | M14x1.5-6H 12 ® 23 10 42.5 4651-24%* M24x3-6H 20 5 42 17 75
4651-14% M14x2-6H 12 5 28 10 51 4651-30P* | M30x1-6H 26 5 21 22 41
4651-16P* | M16x1-6H 14 ® 19 12 36.5 4651-30R* | M30x1.5-6H 26 ) 25 22 47.5
4651-16R* | M16x1.5-6H 14 5 23 12 42.5 4651-30T* | M30x2-6H 26 5 30 22 56
4651-16 * M16x2-6H 14 ® 28 12 51 4651-30%* M30x3.5-6H 26 ) 48 22 81

e R TP



